E-Z-GO RXV WINCH MOUNT BUMPER
Installation Instructions
Part# 7455

Hardware Kit
3/8 x1 Bolts-2
3/8 x 2 ¥ Bolts-2
3/8 Washers-8
3/8 Locknuts-4

Installation Instructions:

1.
2.

3.

o

Remove the stock front bumper from the car.
Using the supplied3/8 x 2 % bolts, washers and locknuts mount the winch mount brackets to the stock
holes in the front frame in front of the a-arm mount as shown in FIGURE 1.

Using the supplied 3/8 x 1 bolts,
washers and locknuts bolt the
top mounts of the winch bumper
to the frame uprights as shown
in FIGURE 1.

This bumper has 2 pre-drilled
holes which match up with most
2000Ib winches. If your winch
does not line up with the 2 pre-
drilled holes use your winch as a
guide and mark and drill
through the mounting plate new
holes for mounting your winch.
Securely tighten all bolts.

The winch mount has a light
mount tab on the bottom of the
winch mount which will allow
you to install off-road lights.

\3? /'J H'K‘E“S %
gb""r LS -
866-405-2537

www.jakesliftkits.com

A

lwngs. wean approprials
eye pmoiéclfou/




